

ABC Bid Data

WOODSTOCK 42534 X-A004(896)

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	WOODSTOCK 42534 X-A004(896) February 22, 2024, Scour repairs at Woodstock 195/093 (NH175 over Pemi). November 01, 2024 Grafton, District 3	Awarded T Amount: Award Dat	141 SMITH BRIDGE ROAI PLYMOUTH, NH 03264 \$2,191,679.50	Certified by:	WILLIAM.J.OLDENBURG			
Summary of Bidders								

Contractor	Bid Amount	Rank
PIPER, R. M. INC.	\$2,191,679.50	А
141 SMITH BRIDGE ROAD, PLYMOUTH NH 03264		



ABC Bid Data

WOODSTOCK

42534

X-A004(896)

				PS&E		141 SMITH	R. M. INC. BRIDGE ROAD TH, NH 03264		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

								1
201.1	CLEARING AND GRUBBING (F)	А	.50	\$35,000.00	\$17,500.00	\$10,000.00	\$5,000.00	
201.21	REMOVING SMALL TREES	EA	36.00	\$650.00	\$23,400.00	\$100.00	\$3,600.00	
203.5525	PORTABLE CHANGEABLE MESSAGE SIGN PLATFORM	U	2.00	\$1,150.00	\$2,300.00	\$1,800.00	\$3,600.00	
207.3	UNCLASSIFIED CHANNEL EXCAVATION	СҮ	95.00	\$30.00	\$2,850.00	\$50.00	\$4,750.00	
403.12	HBP-HAND METHOD	TON	5.00	\$425.00	\$2,125.00	\$650.00	\$3,250.00	
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$375,000.00	\$375,000.00	\$420,000.00	\$420,000.00	
503.201	COFFERDAMS	U	1.00	\$297,500.00	\$297,500.00	\$345,000.00	\$345,000.00	
503.301	COFFERDAMS WITH SHEETING LEFT-IN-PLACE	U	1.00	\$665,000.00	\$665,000.00	\$715,000.00	\$715,000.00	
508.	STRUCTURAL FILL	СҮ	470.00	\$100.00	\$47,000.00	\$60.00	\$28,200.00	
520.1	CONCRETE CLASS A	СҮ	50.00	\$1,600.00	\$80,000.00	\$950.00	\$47,500.00	
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	1,050.00	\$3.00	\$3,150.00	\$7.00	\$7,350.00	
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	35.00	\$25.00	\$875.00	\$10.00	\$350.00	
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	7.00	\$120.00	\$840.00	\$75.00	\$525.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	370.00	\$70.00	\$25,900.00	\$30.00	\$11,100.00	
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$3,500.00	\$7,000.00	\$2,500.00	\$5,000.00	
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	2.00	\$30,000.00	\$60,000.00	\$22,500.00	\$45,000.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
618.7	FLAGGERS	HR	480.00	\$45.00	\$21,600.00	\$55.00	\$26,400.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$70,000.00	\$70,000.00	\$60,000.00	\$60,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE	LF	960.00	\$2.76	\$2,649.60	\$1.50	\$1,440.00	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	28.00	\$3.00	\$84.00	\$5.00	\$140.00	
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	998.00	\$3.64	\$3,632.72	\$2.75	\$2,744.50	
644.72	SLOPE SEED, TYPE 72 (STEEP SLOPE)	LB	14.00	\$90.00	\$1,260.00	\$50.00	\$700.00	



ABC Bid Data

WOODSTOCK

42534

X-A004(896)

				PS&E		PIPER, R. M. INC. 141 SMITH BRIDGE ROAD PLYMOUTH, NH 03264			
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
645.0001	TURBIDITY BARRIER	LF	920.00	\$75.00	\$69,000.00	\$30.00	\$27,600.00		
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	1,850.00	\$3.00	\$5,550.00	\$2.50	\$4,625.00		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,620.00	\$6.50	\$10,530.00	\$10.00	\$16,200.00		
645.531	SILT FENCE	LF	1,620.00	\$3.50	\$5,670.00	\$4.50	\$7,290.00		
645.71	WATER QUALITY MONITORING, INSPECTION AND REPORTING	HR	220.00	\$85.00	\$18,700.00	\$190.00	\$41,800.00		
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00		
645.73	STREAM DIVERSION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$15,500.00	\$15,500.00		
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	1,850.00	\$1.85	\$3,422.50	\$3.80	\$7,030.00		
647.1	нимиз	CY	325.00	\$46.50	\$15,112.50	\$25.00	\$8,125.00		
650.2	LANDSCAPING	U	1.00	\$18,600.00	\$18,600.00	\$25,500.00	\$25,500.00		
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$5,000.00	\$10,000.00	\$3,500.00	\$7,000.00		
692.	MOBILIZATION	U	1.00	\$160,000.00	\$160,000.00	\$210,000.00	\$210,000.00		
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$5,000.00	\$5,000.00	\$3,330.00	\$3,330.00		
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$5,000.00	\$5,000.00	\$3,330.00	\$3,330.00		
698.13	FIELD OFFICE TYPE C	MON	7.00	\$2,000.00	\$14,000.00	\$1,500.00	\$10,500.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00		
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
			Totals:		\$2,122,251.32		\$2,191,679.50		
			Alt. Totals:						
			Totals:		\$2,122,251.32		\$2,191,679.50		



WOODSTOCK

42534

X-A004(896)

		-		A-Bido	der	PS8		
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.1	CLEARING AND GRUBBING (F)	А	.50	\$10,000.00	\$5,000.00	\$35,000.00	\$17,500.00	(\$12,500.00)
201.21	REMOVING SMALL TREES	EA	36.00	\$100.00	\$3,600.00	\$650.00	\$23,400.00	(\$19,800.00)
203.5525	PORTABLE CHANGEABLE MESSAGE SIGN PLATFORM	U	2.00	\$1,800.00	\$3,600.00	\$1,150.00	\$2,300.00	\$1,300.00
207.3	UNCLASSIFIED CHANNEL EXCAVATION	CY	95.00	\$50.00	\$4,750.00	\$30.00	\$2,850.00	\$1,900.00
403.12	HBP-HAND METHOD	TON	5.00	\$650.00	\$3,250.00	\$425.00	\$2,125.00	\$1,125.00
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$420,000.00	\$420,000.00	\$375,000.00	\$375,000.00	\$45,000.00
503.201	COFFERDAMS	U	1.00	\$345,000.00	\$345,000.00	\$297,500.00	\$297,500.00	\$47,500.00
503.301	COFFERDAMS WITH SHEETING LEFT-IN- PLACE	U	1.00	\$715,000.00	\$715,000.00	\$665,000.00	\$665,000.00	\$50,000.00
508.	STRUCTURAL FILL	CY	470.00	\$60.00	\$28,200.00	\$100.00	\$47,000.00	(\$18,800.00)
520.1	CONCRETE CLASS A	CY	50.00	\$950.00	\$47,500.00	\$1,600.00	\$80,000.00	(\$32,500.00)
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	1,050.00	\$7.00	\$7,350.00	\$3.00	\$3,150.00	\$4,200.00
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	35.00	\$10.00	\$350.00	\$25.00	\$875.00	(\$525.00)
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	7.00	\$75.00	\$525.00	\$120.00	\$840.00	(\$315.00)
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	370.00	\$30.00	\$11,100.00	\$70.00	\$25,900.00	(\$14,800.00)



WOODSTOCK

42534

X-A004(896)

				A-Bide	der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$2,500.00	\$5,000.00	\$3,500.00	\$7,000.00	(\$2,000.00)
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	2.00	\$22,500.00	\$45,000.00	\$30,000.00	\$60,000.00	(\$15,000.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
618.7	FLAGGERS	HR	480.00	\$55.00	\$26,400.00	\$45.00	\$21,600.00	\$4,800.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$60,000.00	\$60,000.00	\$70,000.00	\$70,000.00	(\$10,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	\$0.00
632.1106	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 6" LINE		960.00	\$1.50	\$1,440.00	\$2.76	\$2,649.60	(\$1,209.60)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	28.00	\$5.00	\$140.00	\$3.00	\$84.00	\$56.00
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE (REMOVABLE), 6" LINE	LF	998.00	\$2.75	\$2,744.50	\$3.64	\$3,632.72	(\$888.22)
644.72	SLOPE SEED, TYPE 72 (STEEP SLOPE)	LB	14.00	\$50.00	\$700.00	\$90.00	\$1,260.00	(\$560.00)
645.0001	TURBIDITY BARRIER	LF	920.00	\$30.00	\$27,600.00	\$75.00	\$69,000.00	(\$41,400.00)
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	1,850.00	\$2.50	\$4,625.00	\$3.00	\$5,550.00	(\$925.00)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,620.00	\$10.00	\$16,200.00	\$6.50	\$10,530.00	\$5,670.00
645.531	SILT FENCE	LF	1,620.00	\$4.50	\$7,290.00	\$3.50	\$5,670.00	\$1,620.00
645.71	WATER QUALITY MONITORING, INSPECTION AND REPORTING	HR	220.00	\$190.00	\$41,800.00	\$85.00	\$18,700.00	\$23,100.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$3,200.00	\$3,200.00	\$3,000.00	\$3,000.00	\$200.00



WOODSTOCK

42534

X-A004(896)

				A-Bide	der	PS&E		
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
645.73	STREAM DIVERSION PLAN	U	1.00	\$15,500.00	\$15,500.00	\$5,000.00	\$5,000.00	\$10,500.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	1,850.00	\$3.80	\$7,030.00	\$1.85	\$3,422.50	\$3,607.50
647.1	HUMUS	CY	325.00	\$25.00	\$8,125.00	\$46.50	\$15,112.50	(\$6,987.50)
650.2	LANDSCAPING	U	1.00	\$25,500.00	\$25,500.00	\$18,600.00	\$18,600.00	\$6,900.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$3,500.00	\$7,000.00	\$5,000.00	\$10,000.00	(\$3,000.00)
692.	MOBILIZATION	U	1.00	\$210,000.00	\$210,000.00	\$160,000.00	\$160,000.00	\$50,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$3,330.00	\$3,330.00	\$5,000.00	\$5,000.00	(\$1,670.00)
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$3,330.00	\$3,330.00	\$5,000.00	\$5,000.00	(\$1,670.00)
698.13	FIELD OFFICE TYPE C	MON	7.00	\$1,500.00	\$10,500.00	\$2,000.00	\$14,000.00	(\$3,500.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00

Total:

\$2,191,679.50

\$2,122,251.32 \$69,428.18